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M 202 2 & ALSAHAMHA
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBMNBAHAHE BAX SE2L(2AD)
(90,000 x7H *12& )+(120,0002 *3H  12& ) 11,880
= 4,752
s 7,128
FAUTHEANE 29 653,403 0 653,403
< 42,746
s 610,657
307 gl2tol & 653,403 0 653,403
< 42,746
s 610,657
10 AL SXAIEEE2EH EX 653,403 0 653,403
OFAMEANE 2 (20HA) 653,403
< 42,746
s 610,657
FABAANE ERAH| 460 0 460
< 138
i 322
307 glz2+ol & 460 0 460
< 138
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10 ALSISXAIEEE2EHEX 460 0 460
OZHEFAH 2MHAa 460
< 138
s 322
HYR2IZH(BEHL) 1,139,548 1,028,560 110,988
el 2 577,055 501,356 75,699
oI 24| 577,055 501,356 75,699
101 124l 577,055 501,356 75,699
01 2= 274,687 173,750 100,937
OAN2LA2R4Y HHZ(66Y) 86,259
— 6= 12,0023 33 «10Al 2+« 122 47,528
-7 10,8413 x9H x10Al 2t+ 128 11,709
— 8= 9,7333 *15F «10Al 2tx 128 17,520
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02 JIEt& 2 == 302,368 299,406 2,962
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A EAA
HE: HYRIFH (2AL)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
—RER2 15,312
LU H 380& x2,000= 128 9,120
SIRE(0IYLRE)
2,480& *200S x12& 5,952
- EHH R 2 4,000 x5 *123] 240
—MIR23 43,476
-2 2 2,200,000& x12& 26,400
- BAuNs2 1,300,000& *12& 15,600
PSIDNE=DN] 50,000& *2CH x12& 1,200
S0lEs32d=280& 23,000& x12& 276
- 45l4523(22, DS)
300,000& x12& 3,600
—SMESEs AMEE 34,100 *3CH x12& 1,228
— XNSXA (&I XS RH) 100,000& =3 CH 300
—SANERE= 75,0003 =3CH 225
—2E&HE(2H, 1sH) 20,4002 *80E 1,632
—NM=E== HIE =42 120,000& = 12& 1,440
—d== 22 8AED 30,000& x12& 360
— 2SI MY L ESEHEEZ 7,300
eEss01H) 600
AEG2 500,000& =3CH 1,500
WS A (1) 900
cAESEE 450,000 *4CH 1,800
gt = 0l XH(1TH) 100
PSIDNE=DN] 800, 000& =30H 2,400
OX+ & dl 23,967
—-Zgs2(10) 3,390
— 42832 3,068,500& *=3CH 9,206
— HERAA(I) 3,707
—AEHSE 1,916,000& 4 CH 7,664
O% & dl 2,139
— A 4 AZHI(SER)
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202 04 d| 110,397 88,994 21,403
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O=ZLHHHI(2tLH) 30,111
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SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
02 XY 60,000 52,800 7,200
ORANA - WEA BAOIH (Z)
200,000 25 «12& 60,000
203 &R =&H| 12,400 10,800 1,600
02 RAIIAMHRFAH| 3,760 3,120 640
OFJAIMNME R =AY 40,000& 94 3,760
04 ENSIHRF=AY| 8,640 7,680 960
ORN2gI2F&Y|
(400,000 #1284 )+(5,0002 x64H x12€ ) 8,640
204 = 2 4= A H| 27,000 18,600 8,400
01 S HR-HAY| 1,800 1,800 0
OXMI AR FLH| 150,000& x1H x12& 1,800
03 SELREHI 25,200 16,800 8,400
oel sl 50,000 x42H = 12& 25,200
JI2dB(BHXA) 143,849 158,268 AN 14,419
201 et A | 113,129 130, 148 A 17,019
01 At 22l ] 33,172 42,591 N9,419
Ogbt4==2H| =M H A 9,972
O&EI| et™ &2l =45 100,000& *8M A x12& 9,600
OBAHX A HEHA 9| 500,000& *8IH 2~ 4,000
O&ZD|, HO4 22/l 100,000 *8M A~ x12& 9,600
02 324l 79,957 87,557 AT,600
O2222 2 HA 64,157
—RERZ 4,700 *8IM A~ x128 x1.53] 677
—MIR22 500,000 *8I A~ = 12& 48,000
— MO ER3 50,000 *8M A~ x12& 4,800
—FEgs AlEZ 20,000& *8 A~ x12& 1,920
-2k AHE 300,000& *8IH A~ 2,400
—NEE =52 50,000& 100 A~ =12 6,000
— &= 22 8XEfD 30,000& x12& 360
OH ZHl 600
—BHABAHAXNA AIR A L8|
300,000& 1 A~ 2 & 600
OA & &l |l 15,200
— 3 A SR 1,500,000& *8IH A 12,000
— o 2&H RAES 200,000& *8IH 2~ 1,600
— Ot EX T B 200,000& *8IH A~ 1,600
202 04d| 30,720 28,120 2,600
01 2L Y| 30,720 28,120 2,600
OSTEHAAMN MEHR =X
20,0003 »23H x32 x12& 16,560




o
Y
M

D

R0

30 o
<4 0H R0
) RO M
H#l~

<

no
Kl
El
E=]
H3r
m<l
RS
o o
g 8 8
ol ~ o
aor
<
=
0H @ mﬁ: bl
mL % X
o o o E
0 A0 © ™
m\_ *x ,.H x
g (e = P
N >
a [Pmowm w S
o o
= 28 «g *s
F |Hos Bo A
= RO & n0 S M.A_ 2
A ) ul Pl
= | % T
o= = =
- =< < <
I Y ! !
. T T T
R (R A
R o g0 o Mo
R0 O O O
g
-




